Math 114 Midterm 3 NAME YOU ASKED TO BE CALLED IN CLASS:
10:30am Class — No Calculator Portion Version C
Tue Nov 26, 2013 ' a

NO CALCULATORS ALLLOWED

YOU MUST SHOW LOGICAL, NEAT AND ORGANIZED WORK T EARN FULL CREDIT (NO GUESS & CHECK)
I'T MUST BE CLEAR HOW YOU ARRIVED AT YOUR ANSWER

SCORE: /111 POINTS

ALL FRACTIONS MUST BE IN SIMPLEST FORM

Fill in the blanks. Write “UNDEFINED” if the value does not exist. YQU DO NOT NEED TO SHOW WORK., SCORE: {30 PTS
log, 5% = ~& log,81= <} 40 UMb ED loggl= O
7oe0 = log,t= —3 log100,000=_ 5 log, (~36) = LNDEFIVED

For the logarithm curve f(x) = log, x, as the value of x — 0, the valueof y - — o0

For the exponential curve f(x) = (%)x, as the value of x —> 0, the value of y — ()

Circle the graph of the inverse of the following furfction. ‘ 4.y | SCORE: /6 PTS

SCORE: /3 PTS
[e] none of the above
Circle the range of f(x) = (0.5)". SCORE: /3PT8
wo =0 (o B>y @ 08 @ >0 @ R
Circle the domain of f{(x) = (3)". SCORE: /3 PTS
[} {y=0} ] {y>0} ] {x>3 [ {x>0} €] R




Circle the two graphs below which DO NOT represent one-to-one functions,

SCORE: {6 PTS

T

»H PUT EACH FINAL ANSWER IN THE SPACE PROVIDED «caa

Write 10g40 —log4 + log 2 as the logarithm of a single quantity. SHOW PROPER WORK.
\Of) 2L log 2,
= \Oﬁ 1D+ )oﬁ o
lo 4 OD « 2> = {Oﬁ 20 | .FINAL ANSWER; loji 20

SCORE: /6 PTS

i

1

3
Find the domain of the function f(x}=9 - 7

s SHOW PROPER WORK.
4ysrS=+0
Ao #-5
-5
X 2

SCORE: /6 PTS

‘-FINAL.ANSWER: ?X 7 ’"%’F } :

Find the range of the function f(x)=9++2—-x.SHOW PROPER WORK.

SCORE: ____/6PTS
(o~ 20 |
Ar{r-«'29+0
Yz 4

" FINAL ANSWER: E‘VJ{ 2 G{}

Find the inverse of the function f(x) =8 —2+vx+1. SHOW PROPER WORK.

x= &= 2y
X— &= —:z.\rg:r’

S pr)
(%}Lf— ﬁ-{ﬂf Ej—:: Ci;‘E)“) |

SCORE: {9 PTS

FINAL ANSWER: ~~




5
SCORE: {6 PTS

Write lognfd7
log a® - 103 d .
=5 loj&— UOj WA lOﬁ )
= 5 logdli, — Uogm +7Jo§¢:@>

as the sums and/or differences and/or multiples of logarithms of single variables.

=5/%@*|@ﬁ’m—7]ogcl

5_10 17 S IO? oy
FINAL ANSWER: — 1 fog o

Solve forx; 4% = 8*"® SHOW PROPER WORK. CHECK YOUR ANSWER(S). SCORE: /9 PTS
X x*.l ’3 2'-,(4«2 "'.5——]“7—_‘ "3‘_ __L__
; A-5 -
(D) = B2k F) QU g &
D = Lxr24
~lx =20
X =5
FINAL ANSWER: X=-5
SCORE: /9 PTS

Solve forx: 3 -2 logy x = 2. SHOW PROPER WORK. CHECK YOUR ANSWER(S).

- 2log = - 3- 2log 2

\Dﬁqg:’li = 3 -2(%)
x=QH-@=3 = 3

-.:-l

FINAL ANSWER; X = 2

Solve for x: 10g2 (6x + 7) - logz(x +1) = 3. SHOW PROPER WORK. CHECK YOUR ANSWER(S). SCORE: _____ /9PTS
bxx] 4 _ (-4
\03'” St log, (el DD - log, L 5 l)
- B 4

bxrl 3 g .103,_,4 305.,, 3

¥3-1 .
L+ = Gy 8 = 2-)

~2X = = 3

X= %
A

FINAL ANSWER: X = ~ =




